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Direction (Q.No. 17-22)- A, B, C, D, E F, G and
H appears in a exam. According to their

in the exam their rank is

A
C

&

performance
determined.
No two students have the same ra IP
A's rank is higher to H. C g D
C is higher than one rank to G/ (5| A\|A H
There is only one rank in between ard and
the rank of this students is lower to A.
Rank of D and G is higher to A. 13 'F

E is on top of ranking. > g
TR







17. 34 | f&w Ft¥® Fgaa &2 17. From the following whose rank is lowest?
(a) B (a) B A
(b) F (b) F
(c) H (cH

Wr (d) Either Bor F



18.%31%&3‘&!?,%’3%:%!‘1 18. As per given information how many

ol t? ranks can be known?
3 (a) 3
(b) 4 (b) 4

(€) 5 (c)5
(d) 6 (d) 6



19. G FTA R TR F TFAT R 2 19. How many places G can take?
(a) 1 (a) 1
(b) z/ (b) 2
(c) 3 (c) 3

(d) 4 (d) 4



20. UTadt ¥ fraat &2 20. Who ranked fifth?
(a) G (a) G
(b) D (b) D
- d (c) A

(d) Gm qai ‘-Tﬂ (d) Data is not sufficient



21. §TH | SI9-91 ya= Y (Valid) 87 21. Which one of the following is valid?
Xa) HABPE) (a) EDGCHABF
—A/é:z;\ma . (b) ECGDAFHB
(c) EDCGBAFH X (c) EDCGBAFH

(d) ED@H )( (d) EDBCGAFH



22. UYWL 78I}, T@ O F YT TN EM 2 22. 1f H is Ranked 7, what will be the rank of D?

(a) 2 ~ (a) 2
(b) 3 (b) 3
(c)5 (c)5

w g ﬂ'ﬂt (d) Data is not sufficient



24. e, Har F aifte v 8 A7 Ha1 et 24. Geeta is more beautiful than Sita but not as
e A1 g ot - beautiful as Rita then-

UPSC 2012 ILPSC 2012

\//)Kﬁm’ﬂmquﬁtl jsv—ﬂ— (a) Sita is not as beautiful as Geeta. o

%ﬁar e |/ ST JeR B (b) Sita is more beautiful than Rita.

ﬂmtﬂmﬁmﬁ Egn (c) Rita is not as beautiful as Geeta.
)ﬁm a1 A s Z‘P\_ﬂ\ (d) Geeta is more beautiful than Rita.




25. Frafaf@a sy=1 &1 afeor Fifwd: 25. Examine the following statements:
1. 791 A I A 4T 3 ure fFa 1. Rama scored more than Rani.
2y AT TR w1 2. Rani scored less than Ratna.

S ————

3. ¥AT A 71T A A 3 ure a1 Z)T |~MI 3. Ratna scored more than Rama.

4_mﬁmamhm@ 4. Padma scored more than Rama
Y 3P urd fFa) z_alut less than Ratna.

UPSC 2012 F&;‘ ursé «@
e e 3w fFaa ura 53 2 scored the highest?
(a) 741 (a) Rama
(b) GsI (b) Padma
() T (c) Rani

(d) Tiﬂ/ (d) Ratna



26. Yareit faenfdal 3 s Fan d, TH TP 26. In a class of 45 students, a boy is ranked

F1 AT WE 21 &E 3 R IS yaW
aaE, a’rnwmﬁﬁmtlm

3 | 91 |ITH
UPSC 2013

(a) 25 a‘f

(b) 26 T Qo 45 =
(c) 27 & D
(d) 28 af @

20th. When two boys joined, his rank was
dropped by one. What is his new rank from
the end?

UPSC 2013
(a) 25 af

(b) 26 AT Q\ﬁ; 42?(

(c) 27 ar

(d) 28 & ;i)é*\
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(@) Mar R d=1 & Wy waw
a1y, fafts srswr eRaT 81

(b) e Fi=T & wad ST IW Ft 2
(c) e Ve & §IRAT ATURIE Bl g W (c) Geeta hates to lose the game
Wﬁﬁmmwttl

UPSC 2013

28. Geeta is older than her cousin sister Meena.

Meena's brother Vipin is older than Geeta.
When Meena and Bipin go to Geeta, they
like to play chess. Meena wins 4 more times
than Geeta. Based on the above

information it ollows from the

information given'b

UPSC 2013

M‘Q’Wa) While playing chess with Geeta and

Meena, Bipin often loses.
(b) Geeta is the oldest among the three.

(d) Meena is the youngest among the three.



29. frft dffa & ‘A a1 SR A 11T R W R 29. In a row ‘A’ is in the 11th position from the
3R ‘B’ TfRA iR | 108 == W 21 AR}
‘A’ R B AU A R TG &, at A’ 918
3R & 188 ®F W g wrar 81 ufd 7 A

ah? ‘

UPSC 2014

.

10

—

A8\ {97

left and 'B’ is in the 10th position from the
right. If ‘A" and 'B’ interchange. Then A’
becomes 18 from the left. How many
persons are there in the row other than ‘A’
and '‘B?

UPSC 2014
(a) 27 "Q:QS‘//

(b) 26
(c) 25
(d) 24



32. Fufaf@a syt #t giian Fifom:
UPSC 2015
1. R, dgmht | aftre wnfae gt 21
2. werindl, fiid F aftre @iy et 21
3. dgnh, wer varfee 1€t gl >
A PYEI A TE o wPar & -
(a) HeR Ia-t g1 wifep gt 8 e fiidh
(b) WeR Ja-t §1 e gt @ Frait gemmidt
3 firgh
(c) 1 URY wiewat # dgrmift wad w0 w@ifep

w,wammmm

UPSC

feWlowing statements:

| —we (Upsc20i,

ger is tastier than cabbage.

32. Examinef
NI

- ..‘
1. uﬁ@ﬁn
2. Cauliflower is tastier than lady's finger.
3. Cabbage is not tastier than peas.

The conclusion than can be drawn from
these statements is that

(a) peas are as tasty as lady's finger.
(b) peas are as tasty as cauliflower and
lady's finger

(c) cabbage is the least tasty of the four
vegetables.

(d) cauliflower is tastier than cabbage.




33. ﬁfuﬁrf%awa’fwﬁm
g w?‘?‘g 33. Consider the following statements:
A B wmir I g 1. Either Aand B .
© asdmm sl are of the same age of A
Cﬁmil 2. EitherCand D
. 8.camt P‘ Zg7c 'so'd“thmcareofthesameageorb
3. Bis
mmamnmo; 2 D7C
L 2 D> Which of the followin i > et
ﬁw(a) » Bamt 2 C dram.a from the above ?tact:nn:'e‘:lst':lm o
(b)smowmmtt (a) A is older than B
. D.Came (b) Band D are of equal age
(c) D is older than C

ACRTTR
th (d) A is older than C



34. 60 faenffal &t v wan o @l ST’ 34.In a class of 60 students, where the
as@! |/ ! 4B | §, IHA (TP a5F0) number of girls is twice that of boys,
BT P HW | 9Agai 21 afe o9 | g Kamal, a boy, ranked seventeenth from the
T wefegi § A Faa F ag d o A fFaa top. If there are 9 girls ahead of Kamal, the

mi? Cﬁ;’) ’( ___.5 . @ number of boys in rank after him is:

i /’6 | UPSC 2016 = QTE{\‘ @—E%\ UPSC 2016
R e W T ~ABY12 TO X0
() 7 ()7
(d) 3 F\ (d) 3 EZO’*S » \
| 742 e



35. 52 faenfial &t v ®am d 15 ATt  35. 15 students failed in a class of 52. After

il gu1 Sl Renfdal & am ger
3 ¥ a1e, Ahgar-®e I UF g 78 T
¢ o v &1 ®_E SR A 22 91 81 e
A IUPT R BH-TR 2

UPSC 2016
(a) 18 a1
(b) 17 &1

A 16l X2 ar AR
(d) 15 af
®

removing the names of failed students, a
merit order list has been prepared in which
the position of Ramesh is 22nd from the
top. What is his position from the bottom?

UPSC 2016
(a) 18th S- :?

(b) 17th
(c) 16th
(d) 15th

371 | Sy .



36. A 3X B ¥ 319 BT G C 3R D P! 36. The sum of income of A and B is more than
wfdfera sma | afe 81 A 3R ¢ 9t 3y that of C and D taken together. The sum of
1 9T B 3R D Pt wfMfera amy & R income of A and C is the same as that of
21 79 faftea,(R)#t ama B 3R D F1  Band D taken together. Moreover, A eamns
afmifea ema | anth 81 walts amu half as much as the sum of the income of B

and D. Whose income is the highest?

fraet &2
%B > %“r [Duesc 2017 UPSC 2017
(a) A @A f\ = B4D - Qoo
-

T AaC= RD )8 9

(c) C
ﬁ._ C =100
(d)D . (d)D \—z‘




37.P = (APT40%) + (BHT65%)d4YTQ=(A 37.P = (40% of A) + (65% of B) and Q = (50%

®150%) + (B BT 50%); BHTTTRI of A) + (50% of B), where A is greater than
P P0o+68i PSC|201 : A= A=T°

— G
S UPSC 2017
In this context, which of the following
statements is correct? 7y - A=|SD

&:[d’b

(a) P, QA TTT R

(b)Q,PﬁWtIP: éO +GY \a S (a) P is greater than Q

(c)P,Qﬂ'l'\'mt ::‘75"—;—52) \S\g" (b) Q is greater than P
Wﬁﬁﬁf frepd fAfda =g (c) Pis equal to Q

8t FreTer o S ?:@\ (d) None of the above can be concluded
with certainly.



frafafad i & few: Fafafaa
HYAT S1 &@%mﬂmmmm
2wy & I e

1. 1 : 9§ & o &1  HIgH & qui= g1
N4 & To9 A FH 2 o

2. 52 : VB9 & T &I  HIgd & g9 IT
thﬁmtlm

39. PaffR@T sy d A TTTas w22
(a) A8 &1 qui AfPHan g1
(b) TIEH &1 gui AfUdan g1
(c) &1 go AfFdan g1

UPSC 2019

Directions for the following 2 (two) items:
Read the following statements S1 and 52 and
answer the two items that follow:

1. $1: Twice the weight of Sohan is less than
the weight of Mohan or that of Rohan.

2. S2: Twice the weight of Rohan is greater
than the weight of Rohan that of Sohan.

39. Which one of the following statements is
correct?

(a) Weight of Mohan is greatest
(b) Weight of Sohan is greatest
(c) Weight of Rohan is greatest

(d) Whose weight is greatest cannot
bedetermined
UPSC 2019






40. Faff@asyTI A A FT-TTTH TE8?  40. Which one of the following statements is
UPSC 2019 correct?

(o) STE &1 de1 gATH ¥ UPSC 2019
(a) Weight of Mohan is least
ﬁ ®1 qoi a9 ¢
(b) Weight of Sohan is least
() TE BT T A 21 (c) Weight of Rohan is least t

(d) ‘frweT ao gaw § e FPuifa =@ (d) Whose weight is least cannot be
&g & wFan e it d






